
A1 fitting : 3 B-W + quadratic DIS polynomial

A2 fitting : 1 B-W + quadratic DIS polynomial / Q
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A1 fitting trials

Chi2 = 5.986
Chi2/(19-12) = 0.8551

A2 fitting trials

Chi2 = 9.773
Chi2/(19-6) = 0.7518

0 1 2 3 4 5 Error
-0.193 -0.144 -0.476 -0.594 -0.721 -0.798 0.3227 Peak Height 1
0.559 0.307 0.489 0.506 0.524 0.543 0.2684 Peak Height 2
0.486 0.284 0.439 0.469 0.468 0.466 0.1920 Peak Height 3
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Height 4
1.268 1.265 1.300 1.251 1.246 1.244 0.0174 Peak Center 1
1.385 1.387 1.387 1.384 1.382 1.381 0.0070 Peak Center 2
1.530 1.538 1.532 1.530 1.530 1.529 0.0047 Peak Center 3
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Center 4
0.100 0.100 0.544 0.300 0.300 0.300 0.2000 Peak Width 1
0.104 0.079 0.097 0.075 0.061 0.052 0.0499 Peak Width 2
0.055 0.059 0.056 0.051 0.050 0.049 0.0455 Peak Width 3
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Width 4
0.599 0.694 0.609 0.476 0.425 0.398 0.2154 b_0 (Dis)
0.158 -0.078 0.285 0.334 0.355 0.380 0.4992 b_1 (Dis)

-0.810 -0.804 -0.269 0.012 0.302 0.454 0.7441 b_2 (Dis)
0.000 0.000 0.000 0.000 0.000 0.000 fixed b_3 (Dis)
0.000 0.000 0.000 0.000 0.000 0.000 fixed alpha (Dis)

0 1 2 3 4 5 Error
-0.362 -0.368 -0.460 -0.473 -0.472 -0.472 0.2291 Peak Height 1
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Height 2
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Height 3
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Height 4
1.343 1.367 1.358 1.354 1.353 1.353 0.0271 Peak Center 1
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Center 2
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Center 3
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Center 4
0.126 0.224 0.183 0.171 0.168 0.167 0.1278 Peak Width 1
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Width 2
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Width 3
0.000 0.000 0.000 0.000 0.000 0.000 fixed Peak Width 4
0.622 -1.534 -2.048 -2.195 -2.191 -2.190 4.3258 b_0 (Dis)
0.089 6.817 8.882 9.402 9.372 9.364 14.4870 b_1 (Dis)

-1.486 -6.318 -8.286 -8.747 -8.722 -8.714 11.3240 b_2 (Dis)
0.000 0.000 0.000 0.000 0.000 0.000 fixed b_3 (Dis)
0.000 0.000 0.000 0.000 0.000 0.000 fixed alpha (Dis)



A1 fitting : 3 B-W + DIS of RSS(fixed)

A2 fitting : 1 B-W + DIS of RSS(fixed)
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A1 fitting trials

 CHISQ  =   7.20556962
 CHISQ / N =  1.44111392

A2 fitting trials

 CHISQ =   18.3505764
 CHISQ / N =   1.4115828

0 1 2 Error
-0.498 -0.317 -0.390 0.307 Peak Height 1.000
0.648 0.388 0.596 0.187 Peak Height 2.000
0.625 0.441 0.598 0.073 Peak Height 3.000
0.000 0.000 0.000 fixed Peak Height 4.000
1.191 1.211 1.191 0.023 Peak Center 1.000
1.384 1.387 1.384 0.009 Peak Center 2.000
1.548 1.572 1.556 0.015 Peak Center 3.000

100.000 100.000 100.000 fixed Peak Center 4.000
0.055 0.187 0.075 0.212 Peak Width 1.000
0.080 0.081 0.067 0.050 Peak Width 2.000
0.171 0.220 0.212 0.086 Peak Width 3.000
0.000 0.000 0.000 fixed Peak Width 4.000
0.186 0.186 0.186 fixed b_0 (Dis)

-0.032 -0.032 -0.032 fixed b_1 (Dis)
-0.393 -0.393 -0.393 fixed b_2 (Dis)
0.957 0.957 0.957 fixed b_3 (Dis)
0.031 0.031 0.031 fixed alpha (Dis)

0 1 2 Error
-0.464 -0.319 -0.445 0.118 Peak Height 1.000
0.000 0.000 0.000 fixed Peak Height 2.000
0.000 0.000 0.000 fixed Peak Height 3.000
0.000 0.000 0.000 fixed Peak Height 4.000
1.316 1.316 1.311 0.18061E-01 Peak Center 1.000

100.000 100.000 100.000 fixed Peak Center 2.000
100.000 100.000 100.000 fixed Peak Center 3.000
100.000 100.000 100.000 fixed Peak Center 4.000

0.101 0.127 0.114 0.38017E-01 Peak Width 1.000
0.0000 0.0000 0.0000 fixed Peak Width 2.000

0.000 0.000 0.000 fixed Peak Width 3.000
0.000 0.000 0.000 fixed Peak Width 4.000
0.100 0.100 0.100 fixed b_0 (Dis)

0.94000E-01 0.94000E-01 0.94000E-01 fixed b_1 (Dis)
-0.119 -0.119 -0.119 fixed b_2 (Dis)

-0.25000E-01 -0.25000E-01 -0.25000E-01 fixed b_3 (Dis)
0.458 0.458 0.458 fixed alpha (Dis)


